2.8 Verifying Properties of Triangles ﬁ:
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Example 1:\ P(2,1), Q(5,7) and R(8,4) are the vertices of the triangle
assify the triangle.
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Ex. 2 Classify triangle PQR, given P(-7,1), Q(-8,4) and R(-1,3).



Ex. 3 The vertices of a triangle are A(-3,4),B(-2,-4), and C(5,-2). D is the

midpoint of AC and E is the midpoint of AB. Verify that DE is paraIIeI toBCand
half its length.
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4. A triangle has vertices A(2,-3), B( -3,5), and C(-2, 4).

Find the~'> PO of mecions
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Ex. 4 (-1,2) is the centroid of triangle with vertices A(2,-3), B( -3,5),
and C(-2, 4). Verify that the centroid divides each median ina 2:1
ratio.
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